HEATRAESADIA

SMARTER | CLEANER | WARMER

HI-MAX INSTANT Indirect HIU
Casing Assembly Instructions

IMPORTANT
Please read and understand these instructions before starting work
Please leave this leaflet with the user after installation



1. Casing Instructions

1) Fit two M5 button head screws with star washers in
the bottom of each side panel.

S

2) Fit right and left hand side panels by locating onto
the hooks on the back plate and pushing downwards.

[ [D

3) Fix the two side panels to the back lower tabs on the
back plate using two M5 button head screws and star
washers.

4) Fit top panel by sliding latches in the top panel
backwards through holes in the top of the side panels.

5) Fix the top panel to the right hand side panel with a
M5 hex bolt and star washer using a spanner. This is for
earth continuity.

6) Slide the key holes slots in the bottom panel over the
screws with star washers fitted earlier in the bottom of
the side panels. Then tighten the screws complete with
star washers to secure the bottom panel

7) Fit the front panel by hooking the latches in the front
panel into the holes at the front of the side panels and
then pushing downwards.

8) Fix the front panels to the lower tabs on the side
panels using two M5 button head screws and star
washers.




Parts availability will be advised on application

]

[0

HE,
NrMAXA\IS%E SADI A |

Spare Part Number

Ref Part Description

1 HI-MAX INSTANT ID HIU casing top cover 7033719

2 HI-MAX INSTANT ID HIU casing LHS cover 7033720

HI-MAX INSTANT ID HIU casing Front cover (Security) 7033721
’ HI-MAX INSTANT ID HIU casing Front cover (Standard) 95608100

4 HI-MAX INSTANT ID HIU casing RHS cover 7033722

5 HI-MAX INSTANT ID HIU casing bottom cover 7033723

Fixings/screws pack for HIU covers. (Security) 7033724

Not Detailed

Fixings/screws pack for HIU covers. (Standard) 95605135




HEATRAESADIA

SMARTER | CLEANER | WARMER

Electric Water Heating Co.
2 Horsecroft Place
Pinnacles

Harlow

Essex CM19 5BT

Tel: 0845 0553811

E-Mail: sales@ewh.co.uk

SPD

Special Product Division
Units 9 & 10

Hexagon Business Centre
Springfield Road

Hayes

Middlesex UB4 OTY

Tel: 020 8606 3567

Parts Center
Tel: 0344 292 7057
www.partscenter.co.uk

Newey & Eyre

Unit 3-5 Wassage Way
Hampton Lovett Ind. Estate
Droitwich, Worcestershire
WR9 ONX

Tel: 01905 791500

Fax: 01905 791501

UK Spares Ltd
Unit 1155

Aztec West
Almondsbury
Bristol BS32 4TF
Tel: 01454 620500

Alternatively contact your
local supplying merchant
or wholesale branch or use
our online stockist finder at
www.interpartspares.co.uk

Please follow us online:

‘H."'
5% § hot water
association
CHARI[R MEMBER

SPECIFICATION ADVICE HOTLINE
t| 01603 420220 e | specifier@heatraesadia.com

AFTER SALES SERVICE
t| 03448711535 e | customersupport@heatraesadia.com

w | heatraesadia.com

NI Lz
2 I

OUR NATIONWIDE NETWORK OF CUSTOMER SUPPORT ENGINEERS

Heatrae Sadia has its very own dedicated nationwide network of highly trained
customer support engineers so you can have peace of mind that we're always
here to help.

PRODUCT RANGE
Full specification details on all our products are available to download from our website.

To support our corporate responsibility and sustainability charters and reduce our
printed material we encourage you to download product brochures from our website.

In designing these files we have taken into account the need to access data on screen.

If you would like to receive a printed copy of our full product catalogue please call
our literature hotline on 01603 420127.

Heatrae Sadia Heating may introduce modifications to their products from time
to time. Consequently, the details given in this brochure are subject to alteration
without notice.

PN 7033694 Issue 04

© Heatrae Sadia 2016




